CSE 326 Reading Quiz

Name: ______________________ Score: ____

Friday 06/30/00

1. The reason that bucket sort and radix sort are included in Chapter 3 is because (chose one)..


a. A list is a natural data structure for the items in a bucket


b A stack is a natural data structure for the items in a bucket


c. "Radix" is the Latin word for "queue"

2.  FIFO  FILO  LIFO  LILO: which two of these describe a stack?

3. . Which is true?


A stack is a list with certain restrictions


A list is a stack with certain restrictions

4. The algorithm given by Weiss for balancing symbols uses (chose one)


A stack


A list


A queue

5. The value of the postfix expression   1  2  3  *  +  4  +  is: __________


(you don't have to give the algorithm)

6.  The algorithm given by Weiss for converting infix to prefix uses (chose one)


A queue of operators and a queue of operands


A stack of operators only


A stack of operands only

7. "The branch of mathematics known as _____________ theory deals with computing, probabilistically, how long users expect to wait on a line, how long the line gets, and other such questions."

